
Coefficient of friction for a block on a ramp.
Given: the block slides down the ramp at constant velocity due to a

component of it's gravitational weight, FglI•

By similar triangles, both angles 8 are equal.

Fn

The applied force Fa = the component of
weight that is parallel to the ramp, Fg11•

/-Fg-L Fa Fa = Fgll =Fg• sine

The frictional force Ff is equal and opposite to Fa as long as the box
slides with constant velocity

Ff= Fa = FglI = Fg• sine

The normal force F n is equal in magnitude to the component of gravity
that is perpendicular to the ramp F g-L

Fn = Fg-L = Fg• cosE>
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